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Mohit.. 2 days ago

Thank-you madam, for this Amazing Class Session of today's.. J\, &)
And

My answer for today's homework is like-

HJFGI.
Read more
dy &F REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

debasish chakraborty 2 days ago
Homework :

HJFGI

YVZWX

THANK YOU MAM. AWESOME SESSION.

> &R

v View reply from Mahendras : Online Videos For Govt. Exams

REPLY

Azmat Parween 11 hours ago

Thank you so much mam
Very nice teaching

b R REPLY

&

Nitika Gupta 2 days ago
Homework

North -Y,V,Z,W,X
South- H,J,FG,

> &P

+ View reply from Mahendras : Online Videos For Govi. Exams

REPLY

Rahul Bhakat 1 day ago

HJFG I
YVZIWX

Thank you ma'am!

iy &R

v View reply from Mahendras : Online Videos For Govt. Exams

REPLY

Parna Dey 2 days ago

Thankyou mam

b &R REPLY

Nabanita De 2 days ago
H.W-North-YVZWX south-HJFGI.thank you ma'am.
dy &P

+ View reply from Mahendras : Online Videos For Govt. Exams

REPLY
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Mohit.. 9 hours ago
& s B I C L E R K 2 0 2 2 =%’ Thank-you madam for this Amazing Class Session of today's..J\, @

And

My Answer for today's homework is like-
Shubham jatwa 1 day ago
North- YVZWX Read more
SOUTH - HJFGI 5 CP  REPLY
dy &R REPLY
debasish chakraborty 2 hours ago
+ View reply from Mahendras : Online Videos For Govt. Exams Homework : LONPMTROUS

THANK YOU MAM. AWESOME SESSION.
Parna Dey 2 days ago
North-YVZWX R
South-HJFGI
5 &R REPLY

Parna Dey 9 hours ago

Jan15L jan 20Q
Mar15N Mar 20P
Apr. 15M. Apr20T
Jun15R. Jun200.

Read more

b SR REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

laxmi 1 hour ago
Thanks ¢4

gy GR REPLY

Parna Dey 9 hours ago

Thankyou mam

b SR REPLY
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10 people celebrate their birthday on 15th and 20th of 5 months- January, March, April, June and
November. R celebrates birthday after Q. L celebrates his birthday on 15th of the month which
has 31 days. Exactly 2 persons celebrate their birthdays between that of L and P. Exactly 3
persons celebrate birthday between that of P and O. M celebrate birthday just before T but not in
June or November. Also, both M and T celebrate a birthday in the same month. The number of
persons celebrating a birthday before O is same as the number of persons celebrating birthday
after N. Both U and S celebrate a birthday in the same month and U celebrates a birthday before

S.

5 FEeT T 15 3 20 ARG FY 10 T AT AT HAT &- STe1a), AT, 34, 5767 3R
sTda<| R, Q ¥ 91 STeA ST AT & Lma*nﬁ?rwn%’lﬁa?usamwaﬁm%ﬁmﬁ
31 R 21 ¥ 81 2 a3 L 3R P & <1 31911 STeA TR A1 ¥ 81 3 saFa P 3R 0 & v
St HATT 81 M, TH S Igol S ool HATA & Afohet S[eT AT Ade A 81| AT &Y, M 3T
1At v & AR H TeARe HATD §1 0 ¥ IgS ST Hellet aTer SAfFaral Y HEATN F 91
He AT AATR a1} SATFAAT Y HEAT S AT 81 U 3 S kel T & A H SeaAfeet AT &
#R U, s ¥ Ig AT AATA B | W’ ol
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10 people celebrate their birthday on 15th
and 20th of 5 months- January, March,
April, June and November. R celebrates
birthday after Q. L celebrates his birthday
on 15th of the month which has 31 days.
Exactly 2 persons celebrate their birthdays
between that of L and P. Exactly 3 persons
celebrate birthday between that of P and
O. M celebrate birthday just before T but
not in June or November. Also, both M
and T celebrate a birthday in the same
month. The number of persons
celebrating a birthday before O is same as
the number of persons celebrating
birthday after N. Both U and S celebrate a
birthday in the same month and U
celebrates a birthday before S.
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Da People
p 21. Who celebrates a birthday on Apr 15th?

15 30%er B SIEARS FlT FATAT £7
CUECACEEN o.M B.L CP D.O ER

Mar 15 _

Mar 30

_ 22. Who celebrates a birthday just after R?
Apri5 M RF &F dI¢ FiT S+ATRT AATET &7

A.L B. T CN DO EM

e 517
e300

MI Jgo fFaa 39T SeAfed AFIT?
A.Q

23. Who celebrated her birthday before M?

Nov 30 |S
B.R C.T D.O E.P
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24. How many people celebrated their birthday
between Q and O?

Q3 0 F ALY fFaar eI o 39T
SoHTed HATAT?

A.4 B.5 C.6 D.2 E.None

S

25. Who celebrated their birthday just before P?
PF 8% Ugel fhual 3UAT STeHAfesT HATAT?

A.N B.Q C.R D.O E.Noneofthese

Jon 15 |

LI
Mer1SIN |
N 3
port5 M|
E
me 1SR |
June 30/0
Novi5lU |
Nov30 S
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There are five buses P, Q, R, S, T and they have different number of capacities not

necessarily in the same order.

¢ P has higher capacity than Sand T.
* R has less capacity than only Q.

e S carries more passengers than T.

o P AT &THAT S AT A HAF §I
e RATTHATHAT QA FHEI
o S, T U 31T LT Y 95T FIAT &

5557

26. If R carry 62 Passengers then what would be the capacity of

bus Q? IfE R62 TIRAAT &I o ATAT &, af QFH HT &JHAT
T greir?

A.53 B. 24 C.71 D. 49 E. None of these

27. Which bus has the least capacity? ffd a0 &Y &7H7dT
qqq & 872

A.Q B.P C.R D.T E. None of these

28. If P carry 25 passengers and T carry 9 passengers then what
would be the capacity of S which is divisible by 3 and not

divisible by 5? If& P 25 TIAAT T o STar & 31T 179 AT
N o ST g, dY ST &THdT 4T gl o 3 ° fasw #
IR 5 ¥ R ad &2

A. 15 B.18 C.20 D. 27 E. None of these
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‘the capital of delhi’ is coded as ‘jai veru miti viki’. 29. What is the code of ‘crowd’?

‘many festival in delhi’ is coded as ‘viki, nic,dic,vij’ . A. miti B. sik C. dic D. tif E. None of these
‘crowd in the capital’ is coded as ‘dic, veru, miti, sik’.
‘season for festival’ is coded as ‘nis, tif,vij'.

‘delhi for country’ is coded as ‘viki, noo, tif’.

30. What can be the code of ‘festival in
india’?

A. vij, veru, zee

B. vij, miti, zee

C. vij, dic, sik

D. vij, dic, zee

E. None of these

31. What is the code for ‘festival in
india crowd capital’?

A. vij, dic, veru, sik, miti

B. vij, dic, jai, sik, miti

C. vij, dic, veru, sik, viki

D. vij, dic, meeg, sik, tif

E. vij, dic, mee, sik, miti
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‘the capital of delhi’ is coded as ‘jai veru miti
viki’.

‘many festival in delhi’ is coded as ‘viki,
nic,dic,vij’ .

‘crowd in the capital’ is coded as ‘dic, veru, miti,
sik’.

‘season for festival’ is coded as ‘nis, tif,vij'.
‘delhi for country’ is coded as ‘viki, noo, tif’.

32. What is the code of ‘capital ’?
A. ‘vik’ or ‘miti’

B. ‘veru’ or ‘miti’

C. ‘nic’ or ‘miti’

D. ‘vij’ or ‘dic’

E. None of these

33. If in a certain code language
‘festival’ is coded as ‘vij’ and ‘in’ is
coded as ‘dic’ in same code language
What will be the code of ‘delhi’ ?

A. viki B. nic C.sik

D. Can’t be determined

E. None of these
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There are six members in a family. F is the sister of E and A is the brother of C's husband. B is the father
of D and grandfather of E. There are two brothers and two fathers in the family. C is married to B.

UF YRAR A S8 G &1 FER 98 ¢ 3 A, cF afad #1 51 &1 B, D &1 Nar & 3 e
grer g1 IRaR & g g 3R &Y Rar &1 ¢, 8 & farfea gl

34. Who is F's mother? F Y ATaT &l 82
A.E S JAY

C.B D. Cannot be determined

E. None of these

35. If E is married to an outsider M, how is 'F' related to M?

ﬂﬁEﬂﬁWﬁﬂﬁWWﬁﬂM#@ﬂ% ar'e,ma

fFg YR Ta&d 872

A. Brother—in—law B. Sister—in—law

C. Aunt D. Grandmother

E. None of these wg >
=% @ ;
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PQ,R,S,T,U,V, and W are eight different boxes. They are arranged in such a
manner that Box 1 is at the bottom, the box 2 is above it and so on such that the
topmost box is box number 8. R is box number 3. There are only two boxes between
the box R and the box V. Box W is placed immediately above the Box Q. There is only
one box between the box T and the box U. Box T is placed above box U. There is only
one box between the Box R and Box S. Box S is somewhere below Box T.

P,Q,R,S,T,U,V 3T W TS 3TeI9T-37c19T 19T & | 37¢ 59 dig U saareyd forar ram
%ﬁ:m1m#ﬁ% d919d 2 3 IW ¢ AR FH TE TaH FW a1l 99 919
JeT 8 8| R 1T A« 3 §| SIFH R I 91T & T FaoT Sl TFA ¢ | 96T V. 1T W,
dFT QF AF FWRIWIATE. TFA TIHR TFT U F ST FaT Th qig §. I T,
dFT U F IR IGTTATE. SFF R IR TFHT S F NI FaT TF diFT 8. S, BeaT TH

AT FET B
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PQ,R,S,T,U,V, and W are eight
different boxes. They are arranged in
such a manner that Box 1 is at the
bottom, the box 2 is above it and so on
such that the topmost box is box
number 8. R is box number 3. There are
only two boxes between the box R and
the box V. Box W is placed immediately
above the Box Q. There is only one box
between the box T and the box U. Box T
is placed above box U. There is only one
box between the Box R and Box S. Box S
is somewhere below Box T.
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36. Which among the following box is the fifth numbered
box?

Afaf@a & @ S a1 Bear qraar FASE araT Bear
A.S B.Q CW D.P EV

37. Which among the following box is exactly between the
boxes R and S?

?mﬁﬁaﬁ#ﬁamﬁwmﬁs%%aﬁaﬁ
?

A.U B.P C.V D. T E.W

38. Which among the following is the topmost box?
farfaf@a & & 99@ 3 arer Bear sia ar g2
A.T B.Q CW D.R EV
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39. Four of the following five are alike in a certain
way and hence they form a group. Which one of the
following does not belong to that group?

8"box |W
7%box [Q
6%box |V
S™box [P ]
4%box |T
3¢box R |
1tbox [S |

40. How many boxes are there between box Q and

box U?
feear Q3 fBeal UF ALY fFdar faea £72
A. None B. One C. Two D. Three E.

Four
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Statements:
Only a few wells are mats.
All pillows are mats.

Conclusions:
(1) Atleast some pillows are wells.
(1) All wells can never be pillow.

A. If conclusion | follows

B. If conclusion Il follows

C. Either conclusion | or conclusion Il is true

D. Neither conclusion | nor conclusion Il is true
E. Both conclusion | and Il are true
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Eight friends E,F, G, H, S, T, U, and V are sitting around a square table in such a way that four of them
sit at four corners of the square table while four sit in the middle of each of the four sides. The ones
who sit at the four corners face the centre while those who sit in the middle of the sides face outside.
S is an immediate neighbour of both E and V. S sits in the middle of one of the sides of the table. Only
one person sits between E and H. T sits second to the right of U. U is not an immediate neighbour of E
or V. F is not an immediate neighbour of G. G faces a direction opposite to that of U. (i.e, if U faces the
centre, then G faces outside and vice versa)

IS ATE,F, G, H, S, T, U 3T V T TR A & IRI 3N 30 TR 46 ¢ o 398 § IR TR A
F IR FIAl I 4S § TafF IR Teddh & AT A 3T TR 87| TRT FleAl 9T 45 aTl 7 TG g I
3R § Fafer st & i 7 dot arall &1 AW qEI FT AR 1 S, E 3RV QAT w1 Aweaa =510 8. s
A 1 fFH) O oo F ALT A ST . E A H F i el Th AT ST 1 T, U & 31 § @R FATT
WaSTRI U, EATV FT Ahedd TSI AT 81 F, G T [Adhedsd TSR 181 &1 G 1 7@ U & faudia feem
AL (m,mumgwéﬁﬁmﬁ?ﬁemﬁwwﬁm%aﬁtmﬁqﬁm

W>:00.

|
- p f
h >

&


http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

Eight friends E, F, G, H, S, T, U, and V are sitting
around a square table in such a way that four of
them sit at four corners of the square table while
four sit in the middle of each of the four sides. The
ones who sit at the four corners face the centre
while those who sit in the middle of the sides face
outside. S is an immediate neighbour of both E and
V. S sits in the middle of one of the sides of the
table. Only one person sits between E and H. T sits
second to the right of U. U is not an immediate
neighbour of E or V. F is not an immediate
neighbour of G. G faces a direction opposite to that
of U. (i.e, if U faces the centre, then G faces outside
and vice versa)
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21. How many people sit between F and G when counted from the right
side of F?
F& gIfgal 3R & e ©T F3ilk 6 & 72w [Faa safda 93 &7

A. Three B. Four C. Two D. None E. One

22 Which of the following is true regarding F?

F& gay A Aeafaf@a & @ sia a1 a7 87
A. Only three people sit between F and H.

B. F sits in the middle of one of the sides.

C. F sits second to right of U.

D. None of the given options is true

E. Both S and G are immediate neighbours of F.

23.Who sits on the immediate right of H?
HF & g HiT da1 872
A.UB.SC.GD.FE. T
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24.Four of the following five are alike in a certain way and so for
group. Which is the one that does not belong to that group?

fafef@a o= & ¥ 9] s ARgg s @ ga= § 3k
SHTIT U WHE Sl ol 9§ isT AT § &1 37 WAg ¥ wafod
A8l 87

A. H

B.V

C.G

D.T

E.E

25.What is the position of U with respect to E?
Ed Hogdl A UHT TUT 4T g7?

A. Third to the right

B. Fourth to the right

C. Second to the left

D. Third to the left

E. Second to the right
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A. If only conclusion I is true. 26. Statements:

B. If.only conclus.lon Ilis tr.ue. A>B<C=D<E, Q2R<O>E
C. Either conclusion | or Il is true. .

D. Neither conclusion I nor Il is true. Conclusions:

E. Both conclusions | and Il are true. I.D>R II.B<O

27. Statements:
X<K2A=D<Ys<M,C2N=D2=21I
Conclusions:

LK>1 1. X<C
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28. Statements:
P>Q<A<B2E M>N=B<sX

A. If only conclusion | is true.

B. If only conclusion Il is true.

C. Either conclusion | or Il is true.
D. Neither conclusion I nor Il is true. Conclusions:

E. Both conclusions | and Il are true. LP>NI.M>Q

29. Statement:
A>N<J)J=L<D>U>W<G<Y2"Z

Conclusions:
I.A<GI.L>Z

30. Statement:
E>G<F>A2Y2Q=V=D<W=<H

Conclusions:
I.A>DII.A=D
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A. If only conclusion | is true. 31. Statements:

B. If only conclusion Il is true. l. Only a few pink is white.
C. Either conclusion | or Il is true. Il. Only White is black.

D. Neither conclusion | nor Il is true.

E. Both conclusions | and Il are true. Conclusions:

I. All White being Pink is a possibility.
Il. Some Pink being Black is a possibility

32.Statements:

Some Tables are Chairs.
Some Sofa are Desks.
No Chair is Desk.

Conclusions:
I. Some Chairs are not Sofa.
1. All Chairs are Sofa.
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In'a family of three generations and eight members, K is married to T, who is the only son of S. M is ma”
to P, who is the mother of Q. U, who is the sister-in-law of T, is married. T has no sibling. H is the only son of

Q. S is a male person.dlsT m 3R 316 WSEAT & IRAR A, KHT 9@ TH g3, ST SFHI SWFIT
97 §1 MFT g P g3m &, S QY A Bl U, TH REeTsA-ar ¢, Raiea ¥ TH BE
#eleY €t &1 H, QF SFallar q7 §1 SUF T3¥ Al T

33.How is H related to M?

A. Grandson B. Brother

C. Father D. Grandfather

E. None of the above

34.How many people are there in the third generation?
A. 2 B.3

(o | D. More than 3

E. None of the above

35.What is the ratio of the number of females to that of
male members in the family?
A.5:3 B.1:4
C.1:1 D.3:5

E. None of the above
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Study the information given below and answer the questions based on it. There are 8 friends A, B, C, D, E, F,
and H in a group. They have their birthdays in different months - April, June, July and August of the same year
but not necessarily in the same order on different dates viz. 9th and 16th. E celebrates his birthday in the
month which does not have 30 days. Only one person celebrates his birthday between E and G. C celebrates
his birthday immediately before E. Only one person celebrates his birthday between C and F. D celebrates his
birthday before G but not immediate of C and G. Only one person celebrates his birthday between D and A. H
does not celebrate his birthday immediate of G. G does not celebrate his birthday in the month which has 30
days. A celebrates his birthday before D. D does not celebrate his birthday which has even number as the date
of birth. B celebrates his birthday in the month of August but not immediately before or after G.

AR & T FATHRT FT IETIA FY 3T 37 W IMTRT T2t F 39T &1 Th FHAE A 8 AT A, B, C,
D,E, F,G 3R H¥| 3% SIeafeet Jrerer-3rerer AT 3 usal ¥ - T & a¥ & 3, 5T, s 3k
IET A AT TFY AT & HeEr-3rer<r ai@l A AT A & g odt v 16dt| E 3qaTr F=aAfeT
3 Al A A«ar § 9 3 ’ g1 Fad T ITFd AIAT SIeAfe ENT G & =
HATAT 81 C 39T SAoAfeT AraT g1 ¢ 3R F&F T Faa v afFd T SFARH
G & &b AT Fad Uh ITod YT
T el : ‘ G B | G 39T SToHTG 39
AR A R AT & w30 R 1 81 A TS FeAfGT DH gger HAATAT 81 D HYAT AR
A TEAT gl &1 B 39T A-AGHA 3MTET & HEld A HATAT & oifhel

7
43
3

:
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Study the information given below and answerﬂe’
questions based on it. There are 8 friends A, B, C, D,
E, F, G and H in a group. They have their birthdays in
different months - April, June, July and August of the
same year but not necessarily in the same order on
different dates viz. 9th and 16th. E celebrates his
birthday in the month which does not have 30 days.
Only one person celebrates his birthday between E
and G. C celebrates his birthday immediately before
E. Only one person celebrates his birthday between
C and F. D celebrates his birthday before G but not
immediate of C and G. Only one person celebrates
his birthday between D and A. H does not celebrate
his birthday immediate of G. G does not celebrate
his birthday in the month which has 30 days. A
celebrates his birthday before D. D does not
celebrate his birthday which has even number as the
date of birth. B celebrates his birthday in the month
of August but not immediately before or after G.
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Date Person

April
April
June

IR e A
I N L
EN R
I L R

36. In which of the following month does G’s birthday occur?

.G &T FAfeT Arafaf@d & ¥ 59 #da & 3dar 872

A. April B. June C. July D. August E. Cannot be determined

37.Who among the following is elder to D?

frafaf@a & @ #l D& a7 872

A.BB.GC.FD.EE.H

38.How many birthdays are there in between A and C?

AR C&F AT fhda SIeAfeT &7

A. None B. Four C. One D. Two E. Three
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39.Who among the following is younger than C?

frafaf@a 7 & i c ¥ BT 372
A.D B.H CA DB EF

April

une few v Y & g9 oer sia 2

30 April ) ) .
. 40.Who is the youngest of the given friends?
30
20 _ A. None B.G C.B D.C E.D

S [ 9| 6
N
EIE R
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